Protein Synthesis 
          


What does the cell need to make proteins?  

___________________________  ___________________________  ___________________________

The monomers (building blocks) of proteins are ______________________________ 
The ________________________ of nucleotides in each __________ contains information for assembling a chain of amino acids  in the proper order. [ONE GENE – ONE PROTEIN]

A chain of amino acids makes up a __________________.

	DNA
	

RNA

	
	

	
	

	
	


Types of RNA:

1) Messenger RNA - mRNA 

2) Ribosomal RNA -  rRNA

3) Transfer RNA - tRNA

I. TRANSCRIPTION  _________________ to _______________________

In the ____________________, enzymes make an ___________copy of a portion of a ____________ strand (similar to DNA replication)
There is no ____ in RNA!    DNA     A  T  C     C  G  A     A  T  G     G  T  A     C  A  T     G  C  A
(U instead of T)                 mRNA

Where in a cell does transcription take place? ___________________________

II. TRANSLATION  From ________________ to _______________________

Background for Translation

Takes place at _____________________ in cytoplasm

Can’t be  - one base codes for 1 amino acid because:
There are ___________ amino acids; mRNA has only ______ bases (A, U, C, G)
Message is read _________________________________________________________________
_______________________________ = 3 mRNA nucleotides;   Examples: 

A gene codes for a ___________________.

A codon codes for an

_______________ ______________

Two key codons: 

1. AUG = _______________ codon 
2. UAA = _______________ codon
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At the ribosome:  

_________________________ brings ___________ __________ through through cytoplasm to ribosomes.

Each tRNA attaches to only one type of amino acid at one 

end, and matches the mRNA codon at the other. 
Anticodon (____RNA) pairs with  codon (_____RNA)

Amino acids are joined by ____________ bonds.

Translation continues until a ________  codon is reached.
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When the amino acid chain is released from the ribosome and assumes its _________________________, it becomes a _______________________!
Which amino acid goes with which mRNA codon?  (Use a codon chart!)

mRNA
    amino acid 
UCC
GCG 
GGA 
CUU
AUG

CUA

GCU

UAA


